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QUESTION 1

Which two statements are true about SQL procedures? (Choose 2) 

A. SQL procedures reside outside of the database for easy portability. 

B. SQL procedurescannot be called from triggers. 

C. SQL procedures may return multiple result sets to the caller or to a client application. 

D. SQL procedures support recursion. 

E. SQL procedures support the PRINT statement. 

Correct Answer: CD 

 

 

QUESTION 2

If this statement was used tocreate an SQL procedure named P_EXIT: What will the return status be? 

A. 10 

B. 20 

C. 99 

D. NULL 

Correct Answer: C 

 

 

QUESTION 3

In a SQL Procedure, rows_fetched is an integer variable and curEmp is acursor variable of SELECT statement on a
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table. After opening the cursor curemp, which of the statement will determine the number of rows fetched? 

A. SET rows_fetched = curEmp%CURSOR_ROWCOUNT 

B. SET rows_fetched = curEmp%ROWCOUNT 

C. SET rows_fetched =CURSOR_ROWCOUNT(curemp) 

D. SET rows_fetched = ROWCOUNT(curemp) 

Correct Answer: C 

 

 

QUESTION 4

Click the Exhibit button. 

The procedure TEST5 shown in the exhibit was invoked. How many rows will be added to the DEPT table? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 
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QUESTION 5

Which action is supported by Data Studio in the SQL procedure lifecycle? 

A. Create global temporary tables to use in the SQL procedure. 

B. Debug the SQL procedure. 

C. Use auto complete SQL statements. 

D. Create user-define types in the SQL procedure. 

Correct Answer: B 
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